3200 |

Lightning Rod

lar distance 320

Eash 6X300W LED ¢

& =R
|
'\
@200 |
\ 13 %5
@440
& 6=020
& =10
""I.,".
Asymmetrical Bracket
T
& =12
Supportng arm
b | W

Base plate picture

.

35000

High Mast 35M View

SPECIFICATION

Bill of Materials

Part Name Qty Description
Enciosed pullay shell 1 G20mm
Input power: 300W Furture mounting fing 1 920mm
Input voltage: AC110V-260V/50-60Hz :"’“"“"mm b::‘:;:“‘“" : :::
LED quantity: 300 pcs Junetion box cable clomp 1 Yellow T0mm x 30mm x 3mm
Lamp’s luminous flux:19500Lm min. :.,":fm : ::::'m
Color rendering index: more than 40 :*"*":::'m : S x 2o x Sm
Correlated color temperature: 3000K-3600K Etecinic molor power cable 1 15m
Power supply efficiency: 70% min. g | PP
THD(total harmonic distortion): less than 20% Maching b !
Maan lowering cable 1 93mm (7 x10)
Power factor: 0.92 min. Lowening cabées 3 6mm (T%19)
Protection grade: IP65 Pt e %o geatem
Lowenng cable clamps 3
Ambient environment: -40'Cto 50'C Plastc bush 2
Relative humidity: 10%-95%. ;’;Tmm ;
Life span: more than 50000hours ML I0wACkN Jeio Yo ‘
Mamn lowering cable clamp 2 *10mm
Suggested mounting height: 32~49 ft Mo lowering catle clamp 1 *i2mm
Button head boits T M6 x 25mm
LED Lamp 2 years warranty ol e o
Lowanng cabie lermenalion syslem shoath 3
PACKAGING Smmhmensimpn i
1) Individual packaging (paper box) for each parts. Lamp in woocden case o b S B
ME AN WELL 2) Pole is wrapped with felt or similar wrappings inside and air bulb him or polywoven film outside. Drive belts 2
3) Size of package will be advised when we finish production i Y
Scrows 9 M6 x 12mm
Installed on # 12 LED X 300W, on Two Levels, Each of # 6 LED - Spare Parts # 03 LED X 300W om—— s sy
Guide om 3 Inchstes plastic roller
. . . . Connecting bar 3 30mm x Gmm x 82Tmm
High Mast LED 300W Lighting Fixture Cruonarel 5 Sweniie
Guide im sping 2 ***28mm x 65Tmm
an Syslem (=] &  12mmx 62mm
Algnment system split pan & 3 2mmx 20mm
Abgnment system bush 2  20mm
Windiass mounting bolt 4 M6 x 40mm - 60mm
Electnc molor mounting bolt 4 M& x45mm
Smm squarne washer 4 40mm x 40mm x 3Imm
Electrical control panel mounting nut 4 M8
Electncal control panel cable clamp bolt 1 M6 x 30mm
Lightrung rod mounting bolt 3 M0 x 30mm
Enclosed pulley shell mounting bolt & M0 x TOmm
21mm square washer & 40mm x 40mm x Imm
Indicator disc mounting bolt 6 M5 x 8mm
Lightnng rod decorative cover plate mounting bolt 3 M8 x 25mm
Insulation tape 1 Roll
Remaovable support arm 3
Crank handie 1
Raise & lowes control box 1
Fidure testing lead 1
Wooden leveling blocks 6
-t ore that come

#15 LED 300W Light Fixture
# 01 Concrete Foundation

Material
Hat dip gatvanised|
Hat dip galvanized|
Hat dip galvanised
Haot dip galvanised|
Hot dip galvanied

Cold galvanised
Cold galvanised

Stanless stool

Stamless steel
Stamdess stoel

Cold galvanised

Hot dip galvanised
Hot dip galvanised
Stamless stoel
Stamless stee!
Stainless stesl
Stainless steel
Cold galvansed
Stainiess steel
Hot dip galvanised|
Hot dip galvanised
Stanless steel
Hot dip
Stanless steel

Alminum
Hot dip gakvanized
Stanless steel
Stamless steel
Hot dip galvanized)
Haot dip galvanized|
Haot dip galvanized|
Stonless steel
Stainless stool
Stainless steel
Stamless steal
Stainless steel
Stambess steel
Stambess steal
Stambess steel
Stamless steal
Stanless steel
Stomiess steal
Cold galvanized
Stambess steel
Stamnless steel

Hot dip galvanize|
Cold galvanized
Cold galvanized
Four pin to five p
Includs bolts & wing et

Height 35m |Steel Q235
Thickness 6mm & 8mm & 8mm &10mm
Upper caliber | 320mm |Bottom caliber | 900mm
Flange [975°35 mm|IP Grade IP65
?;:Leg?: | Seismic Rating 8
\::tilr:% loading 30M/S
'é?:g'psmggﬁng Asymetrical 2 Levels Eash Of # 6 LED
Lightsource #12 LED X 300 WAH

Foundation Kit

M42*1250mm with twin templates

—f—30

Angular distance 900

High Mast 35M Drawing

Surface treat

treatment

Galvanized not less than 80 microns
and plastic spraying and not less than
100 microns , whole pole waterproof

Base Plate
1500 o
3000 1500 ‘éé ——H
3000

High Mast Concrete

DETAIL OF HIGMAST CONCRETE FOUNDATION Foundation

Note

Offer / Proposal based on Normal Soil Case of ground, If Ground "acc. to Soil Test & Report"
requiring Soil Substitution or any type of Piles - Then Client will pay its additional Cost acc. to its
commercial quote submitted by BADRY.

High Mast Compnents
Bill Of Material (BOM)

Ali Gad El-Hagq Street Florida Tower 7th Floor

~ Sheraton Heliopolis Area Heliopolis, Cairo, Eqypt
‘J‘ l IT Tel: + 202 26 96 7000
= CEMENT EGYPT Fax: + 20 22 68 6192
ASEC Automation Co. (ASA)

i As A Address: 6 Street 308, New Maadi, Cairo, Egypt AR E

SITC Lighting High Mast 35M Height

Office Phone: 2704 2601, Fax: 2703 2948

C/W Lifting System, Movable Bracket,
# 12 LED 300W Lighting Fixtures

PO # 40410098500001

BADRY Quotation Number 1024-1/044/1234

BADRY
s M

BADRY

) pally bn| ggiall 5 30 38 3

BADRY Poles High Mavis Fabrications Co.

Lasailal bl g )N 36,8

BADRY Lighting Professionals’ Co

High Mast 35M Details Drawing

MR. AHMED KHALAF

ENG DIAA HAMZE

26-11-2013

TO AT

HM35-ASA-DTLS-001

BADRY High Mast Co.  APPROVAL

LOCAL CONBULTANT
Eng. Hany El-Bodry APPROVAL

ENG. MOHAMED KHALL CLENT APPROVAL

REVISION O

ASEC Axtomation

SGNESTAMP  DATE

A2



